
Battle / F-Series Tower (P-1092-BS) 
Parts List

Tighten all bolts and verify that they are tight before each use. If you have any questions, 
please feel free to call, text, or email.

(801)-262-4017 - Text & Call
covers@sewlong.com

C U S T O M  C O V E R S

co
mSEWLONG



3.13

P-1092-BS

3.16
3.17

1

3.19

2

FCT V3 - Bolt Kit

Shoulder Bolt 0.3125 x 0.75 (5/16" x
0-3/4" W-1/4-20 Thread - Tubes)

3.2

3.192

3.12

1/2"-13 x 1-1/4" Socket Button Head Bolt

Hex Drive Cup Point Socket Set Screw
(5/16 - 18 X 1/4") 4

BOW

6

1

2
1
1

3.2

1

2

1

1/4"x1.5 grab 303 Stainless w/Lanyard

11

3.12

3.17

2

1

3.19

3.191

3.2

3

Socket Cap Button Head Bolt 3/8" 
(SBHB-0.387)

Tube Strut - PORT
1

2

v3BK-BB

3.18

Socket Button Head Bolt 1-1/4"
(SBHB-1.25 1/4-20 Thread) 

STERN

Part No.Description

1

v3TF-P

3.191

SF20-B Bracket

v3TA-S

# Part
Qty

2

3.3

Tube Aft - PORT

3.18

3.15
3.14

SF20-TK

Tube Fwd - PORT
Tube Aft - STBD

3.11

Kit
Qty

Tube Assembly Bolts

3.31

FCT V3 - Hardware Tube Kit

Canvas

3.192

SF20-B
6

FCT V3 Bolt Kit

3.16

1
Frame

3.17

3.193
3.15

3.1

3.18
4

FCT V3 - Tube Assembly

2

v3TA-P

v3TH

PORT v3TF-S

1092-F

3.3

STBD

3.13

Tubing Hinge
Tube Strut - STBD

3.31

3.193

Tube Fwd - STBD v3TF-S

3.1

3.11

3.14

v3TF-P

1092-BS

Centurion Battle - Top View


	battle front page (parts list)
	PDF_8.5x11_Battle Assembled Hardware Parts Drawing 



